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What is a noise sensor? 

A noise sensor does exactly what the name suggests. The noise sensor returns values in decibels, with 0 being 
near silence. 

The warm up activity is an ice breaker that has learners making progressively louder sounds: rubbing hands 
together to stamping feet (which can be very loud, so remind learners that they are in a school and that other 
classes may hear them).  

There are two videos displaying commercially available noise sensors. These are there only to show that they 
exist and what results they return, they are not meant to be a goal for the coding exercise. 

Using parallel blocks and conditional statements 

Event blocks should be used more and more to organise code into ‘grouped’ actions. The code, that has Marty 
responding to different noise levels, has conditional statements, each range has an associated response. If 
there is more than one response (like a sound or an action) for a range, the additional responses need a 
different block of code. Sometimes there are two actions that occur at the same time, these need to be 
arranged in two different event blocks, as you will see in the explanation, below. 
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Explaining the Event blocks 

There are two event blocks in the code. Both blocks of code rely on the result from the noise sensor. 

● The loop continues until it is stopped.
● Each noise range returns a different action.
● There is a nested conditional here, used to further refine the actions: if the noise is more than 100,

an action will occur, but if it is more than 150 a separate actions will occur; the dance happens
when the noise is more than 150; the arms move when the noise is more than 100 but not more
than 150.

● If the noise is not more than 100, Marty leans back and forth.
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● This event follows the same steps as the first block but here, there are wait blocks. After timing the 
dance move, it took about 4.54 seconds, this means that if the noise is more than 150, this block will 
wait until the dance is completed before continuing.

● The left arm and right arm will move together if the noise level is more than 100 and not more than 
150.

● If the noise is not more than 100, this block causes Marty to wait long enough to stay in sync with 
the other block. In this case, the whistle and wait block are about the same length of time as Marty 
leaning back and forth.


